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Appendix D — Breakdown of Options Considered

We have considered a number of options for the overall scheme. Some of these were
proposed by respondents to the consultation for the 2013/14 scheme. These options are
listed below with a short summary indicating why it is felt they are not appropriate.

Increase the overall % level of Council Tax Support
The Council recognises that this option would reduce the financial burden for those in
receipt of Council Tax Support. However, if we increased the % of support (so customers
pay less) this would need to be funded by the Council and there is already a projected
shortfall in the Council’s budget for 2015/16 of approximately £30m. We modelled
financial data looking at a level of 85% support (by way of an increase from the current
80.2% support) which would result in an additional cost of £1.2m to the Council. This
would have to be found from other sources namely

1) Cutting services

2) Using reserves

3) Increasing Council Tax
None of these options were considered viable for the reasons set out below

First cutting services would have a negative impact on residents who could potentially
suffer from reduced services as a result. As highlighted above, the Council is already
projecting a budget gap of £30m for 2015/16 with £70m across the period 2015/16 —
2017/18.

Second whilst the total estimated level of reserves at end of March 2015 (as per 26
February 2014 Full Council report) is £96m, 79% of these are restricted or earmarked with
only £20m (21%) estimated for the general reserve. This general reserve is held to cover
unexpected liabilities and risks not to support on-going revenue shortfalls.

There are already a number of considerable risks going into 2015/16, many of which are
outside of the Council’s control. Funding additional support by way of utilising reserves is
not considered a viable option and is not in line with the demands of financial prudence.

Third, the Council can only increase Council Tax up to 2% without triggering a referendum
which would be costly both in terms of time and financial resources. Also, by freezing
Council Tax the Council also remains eligible for the Council Tax freeze grant. However,
the impact of increasing Council Tax by 2% has been modelled and would only net circa
£0.5m, which is not enough to cover the shortfall. Additionally, if the Council increased its
Council Tax by 2% it would have the 3™ highest Council Tax in London.

Decrease the overall % level of Council Tax Support

If we increased the % of support (so customers pay more) we could increase the amount
potentially collected by the Council by way of Council Tax, having a positive impact on the
Council’s budget. However this could have a significantly detrimental impact on customers
who would have to pay a higher amount towards their Council Tax and for this reason this
options is not recommended.

Protecting Certain Vulnerable Groups
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In addition to protecting those in receipt of certain disability benefits, other options have
been considered as listed below. We have taken the average amount people currently
have to pay as £7.42 per week, the below figures show the additional amount they would
have to pay if any of these options were implemented.
e Households with children
o This option would leave the remaining claimant paying an average additional
amount of £9.68 per week
e Households with a child under one
o This option would leave the remaining claimant paying an average additional
amount of £0.66 per week
e Households with a child under five
o This option would leave the remaining claimant paying an average additional
amount of £2.54 per week
e Households with more than three children
o This option would leave the remaining claimant paying an average additional
amount of £0.46 per week
e Households with a lone parent
o This option would leave the remaining claimant paying an average additional
amount of £4.37 per week

Protecting band A-C properties
This option would leave the remaining claimant paying an average additional amount of
£20.59 per week

Protecting claimants on current maximum entitlement
This option would leave the remaining claimant paying an average additional amount of
£13.93 per week

Protecting claimants who are working but on low income.
This option would leave the remaining claimant paying an average additional amount of
£9.39 per week

Protecting claimants who have been impacted by the Benefits Cap or Social Size Criteria
changes

This option would leave the remaining claimant paying an average additional amount of
£0.26 per week

Protecting claimants in receipt of Single Person’s Discount
This option would leave the remaining claimant paying an average additional amount of
£8.26 per week

The above options are all not recommended as providing additional support for some
groups will need to be funded by the Council or by other claimants paying more, this is not
viable for the reasons set out above.
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